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   ــ ا�
��د�� ا������ ��� ����ل آ��رور ا����رو��� وا�
�ء 1

2 3HCl H O H O Cl+ −+ −+ −+ −+ → ++ → ++ → ++ → +  

   ــ أ ا%$�اع ا�"�
��!�� ا�
���دة �� ا�
���ل 2
,      3 2Cl OH H O H O− − +− − +− − +− − +  
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��!�� ()�ب
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Cl()�ب ,+آ�*  −−−−        �� �3)�1 ��
���ل $012 ا����د ا�"�+��!�  
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������ pH ــ ()�ب 1

  ����ل ه��روآ)�� ا���د-�م 
log
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   V2=50ml و  V1=10ml ــ أ 2
pH ه� ������
  :  ا�G��C �� ا�

   ا�"��� ا�
���دة �� ا�G��C و$):H:3 ,+آ�*ه� �� ا�OH- G��C$�)> ,+آ�* ا%-�$�ت 
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  :  ــ ,+آ�* ا�
���ل ا�:.�ري 1

3�$35%� ب  �   �� ه��روآ)�� ا���د-�م 35g �� ا�
���ل ,��� 100g أي �

���L"وا� d ��
 ه� آ@�? ا�":�� ا��.
,1 38g

d
ml
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,

,
1 38 1
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� 3 ــ و 2� ��1:
  ا�:
�ر-� ا�)���P  ــ $JB ا��P-+2 ا�
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1 �-�Pة ا��	�Pي وا��Pا� Q
   ــ ا�
��د�� ا�"�
��!�� ��:B�	7 ا���7R ��� ا��

3 22H O OH H O+ −+ −+ −+ −+ →+ →+ →+ →  


�F�ت : $�2P ا�:"��I ��1�$��  ــ ,���� 2
15)و$��7 	�6 ا��2P3 ) أ$U+ ا��رس ($):�
7 ا� ,7)E ml  
 I��":/� ا��	012 $ :  
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3 �   : Cb 	�6 �� ا�
�ء ا�W��C �����ل 500ml ــ آ:�� ���رات ا���دا ا�:� -.> إذا�:�� �
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 ���Y أن  �� ����ل ا���دا ��
���ل ا��1!�10mlدة �� ا�G��C 	�3 إ;��� � ــ ,+اآ�* ا%$�اع ا�"�
��!�� ا�
.82=pH 63�3
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Q ا�3:+-? 	�ض (
Q ا�"��ر-�ر-? �^ن ["7 ا�) �3�
�:Fــ إذا ا   =�/ JB$ 6�	 +ا�6 �:�P1- `�) +�a:-
 I��":�2 ا�P$ .  
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  : ا�G��C ا�
"�ن �� ����ل ه��روآ)�� ا���د-�م pH()�ب * 
��ح ا�&%ال�� ب1 $+�* ��
���ل ا%ول ب  :)$�Lل ا����
   ا�
���دة ��-OH$�)> ,+آ�* أ-�$�ت  و2 وا�

 �  :وه� -�62 �����/� ا�:���� . ا�
���ل ا��3�!
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n n
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V
−−−− ++++

     ====    أن Y���2V+  1V=TV     

   �� ����ل ه��روآ)�� ا���د-�م500ml ا�
���دة �� -OHآ
�� ��دة أ-�$�ت ــ ()�ب
)                           NaOH(M)/NaOH(m)=-OH(n  

    .                                            mol.020=  
  pH=12 �� ����ل ه��روآ)�� ا���د-�م ذي 1lا�
���دة ��  -OHـ ()�ب آ
�� ��دة أ-�$�ت 

pH      ] H3O-10=$��= أن
+    [↔  =10-12mol/l]H3O

+[  
2

2 10n mol−−−−==== 1,5 و آ@اكTV l====  

0,02OHإذن $):H:3 أن  mol−−−−     ====     13 أي أن
3 5.10 /H O mol l+ −+ −+ −+ −     ====     3  إذنlogpH H O++++    = −= −= −= −       

12,3pH ====  
 �P-+2ا� JB3� 9�) =:- �$�Lال ا�I(�� �1(3���.  

: *�+,� 	
��� 
 G�C$20ml1س  �� ����ل ا��,�KOH f*آ�+, C1=10-2mol/l ، 5وml ?-ا�1+و��ر Q
  HBr �� ����ل (

 f*آ�+,C وف+�� +�i  .pH 9 -)�وي��	7 ��
   .11 ا�G��C ا�
H3O  ــ اH:3:F ,+اآ�* ا%-�$�ت �� ا�
���ل1

+,OH-,K+,Br-.   
   C ــ أ()> ا�:+آ�* 2
   7��$	��2P$ 6 ا�:"��I ؟�"�  5mlــ �� ه� (.= ����ل (
Q ا����1ر-? ا�@ي -.> إ;��:9  ل3
4 �
�/ �
7 ؟    ����ل (
pHQ ـــ �� ه�:(
  ا�1+و��ر-? ا�

  : 	R�3+ ا��7 
=10-11mol/l]H3O

+    [=10-3mol/l] OH-  [ ،=8.10-3mol/l] K+  [= 7.10-3mol/l] Br-[  
C=3.5.10-2mol/l  

V=0,7ml   
pH=1,64  


